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13 | N |Both 4SW-1 100 4SW4 620 720 12 EW360 10 6
14 E |None 3NS-2 100 3NS-2 100 NS70 -5 5
15| S NS 3NE6 490 5CW6 420 70 2 EW640 4 -6
16 | W | EW 3NE3 600 3NE3 600 EW180 -9 9
17 | N |None 4DN-1 50 3HW5 200 150 4 EW100 2 3
18 E NS 4SN6 680 4SN4 620 60 2 NS520 4 -3
19| S | EW 2HW2 110 2HW3 140 30 1 EW80 -1 2
20 | W |Both 4SW4 620 4SW5 650 30 1 EW620 1
@3t IMP|20 |16 6 | 7
e . >
By 21 i < 14 1 1@# =
* B IMP 20 16
£+ P 20 16 )
2 HVP 11.50 8.50
5t




.7 ~ 2
7| lUlsg<grRpEegree | 7 :
33
NS #0 NS (R0)
ew a0 22 |Table 1] 6 oy
B# DL |+ MEE M E ik REAA | COP Datum
EHz e NS EW EHz e NS EW || #22 | #6 |#22| #6 |#22| #6 Mean NS EW
11 | S |None NS540
12 | W | NS EW430
13 | N |Both EW360
14 | E |None NS70
15| S | NS EW640
16 | W | EW EW180
17 | N |None EW100
18 | E | NS NS520
19| S | EW EWS0
20 | W |Both EW620
B3 NP
B2 22 e 6 fe e B e
> B IMP
£ 3 IMP
# H-VP 10.00 10.00
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